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Consider each side of the following right-angled triangle with a specific angle X.

Opposite

A

Adjacent

XZ is called hypotenuse. XZ has the length of y units.
XY is called adjacent. XY has the length of z units

YZ is called opposite. YZ has the length of x units.
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opposite
ypotenuse

Sine of the angle X is R

OrsinX =

<IX

Opposite

adjacent
ypotenuse

Cosine of the angle X is R

= &
Orcos X = y

Y

A

Adjacent opposite
Tangen '
gent of the angle X is Ej%m

_ X
Ortan X = s



nt of the angle X is MYRotenuse 1
Coseca gle X'is opposhe or =
—————————————
Or cosec X = ¥
.. hypotenuse 1
Secant of the angle X is adjacent OF e
Or sec X = 32/
e ——— —_—
adjacent 1

Cotangent of the angle X is opposte O @n X’

Or cot X

I
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A10e19 9NFUawRENYRIN ABC AMUALRRIMAIU8Y sin A, cos A, tan A, Sin B, cos B kag tan B

B
B
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A 6 % o
A 6 B
sin A = SinB =
Cos A = cosB =

tan A = tanB =
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1.

sin A = cosec A =
10 b

cos A = sec A =

tan A = cot A



sin A = cosec A =

cos A = sec A =

tan A = cotA =



%1 EXERCISE 1(p.186-188) and EXERCISE 2 (p.190-192)



A9819 N SmA:E AIIANUDS COSA , tan A



f1oe19 fvue DSIN A=3 qaiang 5tan Asec A



fnagne s DCOSECA =8 qamaives 2€0S Asin A



3 5sinA —3cosA

COLA =" 4 491A1v8

A29819 01 .
‘ 4 sin A +2cosA
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Trigonometric Ratio 30, 45 and 60 Degrees
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sin A =

Ccos A=
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tan A=
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Trigonometric Ratio

Size of the specific angel

o

30

45

o

60
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90

sin A

cos A

tan A

cosec A

sec A

cot A




A70819 NFUaReNyuaIn ABC NAMUALA AB = 174 miiguag A = 30° 3911 BC kag AC

C

A 174 B



A28819 What is the size of angle 0 in the right-angled triangle?

C

6 cm
3cm




A28819 What is the size of angle 0 in the right-angled triangle?

642 cm

346 cm



A28819 What is the value of x in the right-angled triangle?

C

X cm
5cm




A28819 What is the value of x in the right-angled triangle?

C

xcm
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45° L 60




11 EXERCISE 3(p.205-209)



Snoeng aginanwag SiN‘60° +cos® 30° —tan® 45°

52457 Sin‘ 60° +cos® 30° —tan® 45°



f19819 99nA1weg  tan® 60° +4cos’ 45° +3sec? 30°

A% tan®60° +4cos® 45° +3sec” 30°



A19879 9KRIAIVDY  cosec60° sec30° cot 60° cosO°

A59i1 cosec60° sec30° cot 60° cos0°



A28 IRIANVDY %cos2 30° +3tan” 30° —%cos2 45° —%sinz 60°

25911 gcos2 30" +3tan® 30° —%cos2 45° —%sin2 60°
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